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== A
Nl = 0l &8 AF & & Al
20188 & =0l A B3I M|
ST A A
AT AlSe
ST ANEEY
(=] TH ol = x;“ri.'x:_
S2AH -3 . A(3H) - HEANY - HES Off & o4 Ol AF o1
oA A 8,500,000 7,121,202
Xl 210,000
2 8,290,000
A N S 454,261 497,032
Xl 210,000
2 244,261
DlSatas AE2Y 454,261 497,032
Xl 210,000
= 244,261
DISac Sx2e 84,461 62,461
201 LBr22H| 39,691 39,691
01 At 22| 19,095 19,095
Olgers=gHl] 19,095
OlI2 &4+E FEAAE 28 HaY 2(
4L013t) 120,00094 * BEtA 720
OlIS44+S YA AA 42 18,375
o BIIZEAHES 140 &=2)
63,5002 * 30JHA * 33 5,715
o FIIEAHE S 550 &)
335,0002 * 300HA * 13 10,050
o HIIEA(ReHE &8x)
11,0002 * 30004 * 13 330
o ™IIAHAHE S 11HE=)
76,0008 * 3004 * 13 2,280
02 224t 20,596 20,59
OZZ22LHA] 6,180
OSEZCIAIAE Y 3 &I
20,0008 * 8HA * 6% 960
OSE&ANAE MRS
15,0008 * 84 « 6% 720
OlIE4sx HHelAd M2
15,0008 * 500 A « 128 900
O0I244+T HFL2XelAld EIIQB(EAAH
HEX) 150,000 * 2044 * 12” 3,600
O[AI& ZHIRXIHI] 14,416
OFLHEALE L SEF2RIAAHSI 22 H 4,516
oEALHI(EHELN)
4450008 * 20K A 890
oxEEHI A2 LA
400,0002 * 504 A 2,000
O MEUIA(TEH) 990,000 * 14l 990
o HYUO DHE Ef (5um) D HM
8,000 * 21JHA * 2044 336
oBISH & #2l(1. kw)
100,0008 * 34 300
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LAY A
DA ALBE

COISALE AlE2Y

=2o T =2T o

s & SIE]
S - EB - S() - MRAY - B 0 &k o8 Shs HREZ
OlIS4&+T A&yl
300,000& = 33024 9,900
206 M2 I 2,770 2,770 0
01 HE 4l 2,770 2,770 0
ODS&4E +BAAS A7
80,000& * 335 33 720
ONtga+E 28 25947y 2,050
OIH 3,000& = 150kg 450
O %M 800& * 2,000 ¢ 1,600
401 AIEHIZ S OHHI 42,000 20,000 22,000
01 Al I 42,000 20,000 22,000
OltS4s: AFJESITA
3,000,000 » 2JH 2 6,000
OllS4sx 2ASE+3A
2,000,000 = 1508 & 30,000
Oltsadsx ASAI4E WAL
3,000,000& * 2042 6,000
A2RZAIE HEAMY 300,000 428,571 2128,571
Xl 210,000
= 90,000
401 AIEHIZ 2O bI 300,000 428,571 128,571
Xl 210,000
i 90,000
01 Al&HI 297,840 428,571 A130,731
OA72 =TAlE HE  297,840,000& = 14! 297,840
Xl 208,488
=z 89,352
03 A4 2 0HH 2,160 0 2,160
OAL72 =T A& HE KUY
300,000,000& * 0.72% 2,160
N 1,512
A 648
272 =T AlE HBHeldl 6,000 6,000 0
401 AlEHIZ 2 I 6,000 6,000 0
01 A&t 6,000 6,000 0
OHZSXc2lHl & OI2AE HEE ZAt|
3,000,000& * 2JH 2 6,000
FEY FHIY XJAS 63,800 0 63,800
402 SIZHAH=01 & 63,800 0 63,800
02 QIZHHE AL EE(OI X THEH ) 63,800 0 63,800
OFELFHNATAMNY (FLS)
47,400,000& = 14 47,400
OXRELHFEHIY XA (2EH)
16,400,000& * 14 16,400
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SN STARL
=

IU: YRBS(FA

el R HAKI =

- l_
SA - OQ(BIH) - MEAY - BAS Ofl &b %z HR=2
HWRES(ETAIEA) 8,045,739 6,624,170 1,421,569
LHEAHeH X & 8,045,739 6,624,170 1,421,569
A BIGXNE HES 3,118,311 1,989,900 1,128,411
701 JIEtSIHESEE2 3,118,311 1,989,900 1,128,411
02 BI)ICELEIAHABANMNEEZ 817,240 946,900 129,660
Oat4=5 ol24d| X & (4001)
817,240,000 = 14! 817,240
03 BI)ILELEIIHN=ENEZ 2,301,071 1,043,000 1,258,071
O=s0Z Xgtax=E HEAIY(2EIR)
1,507,572,000& * 14! 1,507,572
O=s0ZE XgasE HEAIS(2MXR)
283,000,000& = 14l 283,000
Ot =79 =& AT 220 A
50,000 * 4,000m 200,000
Ox=T8Hl JI2HE 8 & AT 2% J|s
&IcH 10,499,000& * 14! 310,499
ot 2JIgXd dE=3 4,927,428 4,634,270 293, 158
701 JIEtSI HSHES 4,927,428 4,634,270 293, 158
02 BIIEELEIHIBATEZ 3,850,000 3,150,000 700,000
OodtEE ol H4H| XI&(25901)
1,200,000,000& = 14l 1,200,000
OUEsESLHeI A 22249HI(&D],JIA =
) 1,800,000,000& * 14! 1,800,000
OHCREl=HelAld 23|
250,000,000& = 14l 250,000
O0IEst=Held 24l 400,000,000 * 14 400,000
Osdt=Held Jlssd 200,000,000 = 14! 200,000
03 BIIEELEIIAHNEAEZ 1,077,428 1,484,270 N406,842
Ogd LS564-22 HYUIAIY (2HIRY)
348,428,000 * 14! 348,428
OFSAL L (2SHH) X G2 FHHIAFA(
THIEE) 200,000,000 = 1A 200,000
OUEXF ot SE 22/ XY HUIAFY (2]
2 200,000,000& = 14! 200,000
OsAH HEX P =UHE0IS otT ZHIAFS(
ZHIEE) 129,000,000 » 14! 129,000
O=238 g5 sHE0I8 ol=& 7‘*HI/\FC’*( Hi
HEH 200,000,000 = 14! 200,000

- 887 -






